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(Angles) L s

ol sle bl g8lgo 1uass 98 da>Luwoll Jlacl (o Joe Sl esd eyl Lol
oLwlallsh,>ly aglhall wlwlball isl JMs o Usg uo,Vl abw oo wall
9 wlwlslliduold) gl Amouw i auilps Wlogleo (sl Wlwlsll i Jag=id o3I

sl a5 Lurodl Jloc]

linear measurements anbs> Ulwlo . 1
slope distance - aliloJl asluwoll .A

Horizontal distance - &85Vl &sLuwoll .B
vertical distance - aJgdlidl wlsluuoldl .C
Angular measurements agl; OLwlS. 2

Horizontal angle é.a8VI agl;)l .A
vertical angle .(a>g02ll) adgdlindl aygl;Jl .B




Types of Angles Ll g3l £l s

(88 (5 sia A adad adalE IR (e S8 ) Al ) e o 488N Ayl 11

(oA (5 e b ot (i YA (e (5S5  gl 51 ar g gand) Ay gl 30, 2

s L) W) sl A g8LE (6 ghua A il 45 9) ) e 3 ke a1 Zenith angle . 3
) AL 3 e JALE Laa ) s

Types of angles

MLN — Horizontal angle
ALM — Vertical angle
NLB — Vertical angle
Z1.A — Zenith angle
Z1.B — Zenith angle




(Types of horizontal angles) a8Vl Ulg;JI €lgs

" Angle to the right" gaoudl JI gl .1
lall Wl rlull gladl o acluldl v iac ol auwlinll aglidl e o,le D9
. (360 - 0) yo 29l Lawld lidg (5>WI

ABC
A N BCD D
B
d - IECD=?‘2° 1520'L
— Cd
Gtad D150 . .
LN P EP

" Deflection Angle" W=Vl augl; . 2

Ay o>l glall I sabudl glall slaiel go auwlaoll asglill ue o,le D9
F. AZ.(&>Y)= F.AZ. (&2w) + D. Angle (180 - 0) Lo lgioud 2ol




( Directions) vl Vi

:(Direction of a line) Lal) sl

3 yall Ll A (meridian) oz el bl g dulaal) 4881 4 ) ) s Jas L..gi oLl )l
el jie e gl Aelull Gie ae ol sall olatl S5 aa 4nlas) (pues




(Types of Meridian) aus>,0J| bob=l| gloil
true meridian Adall pagdl 1
.south pole sl il 5 north pole Jeddl Cladll ( Jaal 5l badll e 3 jle 5o
sl e oty W5 )Y mhae e Al () 3 AL A5 4ied Ol s
NORTH POLE Magnetic Meridian (~whtiaal slaiy), 2
MAGHETIC GEOGRAPHICAL

MERIDIAN  MERIDIAN 2509 Lly sl Jladl) Il a1 580 ) sma )
ubalizall ) saall oo SL die B jaiy Loyl AL ) sae aa g
el Cladll e 3udaiy ¥ asdalinal) el adasl) o G
Favalalinall dloa gl Jae (3 Faalall o3a (e ooy | idal
4\5);5\0);uj5.\u.hc Mﬂ@b&d\'&}&\ u\L_L\A
i) Jlal) o sl 5 Laily JLadill i

L S S " s - .
SOUTH POLE w&:\.&d\ LJ\JA.N\ @j\‘) L_lLuAAJ @:\sﬂ\ J




Grid Meridian (2 A slai¥) | 3

oAbl Jay JLell et comy A Al an i S0 5 il LA 5 a g
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(Types of Direction System) OV Gusiaedol

Azimuth ¢ ola¥) ¥ o)
(Laild Ao Lud) e olad) pa (Aladd) yuagd) Cpa dulBall A88Y) A0 301 g8 (5 lal) olay) aUALY) 13 8
ClalaiY) JAa Lo gudi SY) AUAL yiay g

300

270
West

240

To object

South




D g AN alBH) el g3 aa) (e
Forward Azimuth ale¥) 3lad¥) | 1

Backward Azimuth Alad) slaly) | 2
@;ﬂ\%@a&g&@;jﬂ\z\hajMJ\ALSJUMBJ}M\Z\ASSY\%}\J\@

. .M‘)j\ . ! ., . S .
0® Azimuth AB = 110°
Back azimuth AB = 2920°
TN
110° . \
<]
RSN Lo Backward = Forward +180
Forwardi
\ 4

< \P
N

v




Bearing ¢ gy slad¥) LG

S gl aladly giad) o) Jladd) (e daliall 4881 4y ) 31 oA (5 4ila au ) oladY) AUALY J2a A
.(90-0) W laka 7 5l 55 5 Aslud) s

Azimuth el Azimuths Bearings
360°0° ;
N 0° N
s NE 315° o 45° N45°W 4+ NA45°E
Iv) 1)
210° W \ E 90° W £
\< S s 270°« ~90° W -
(1) (I
s s ‘ 225° Y 1357 §S45°W ¥ S45°E

1e0* 180° S




G A &) 9 Al eV 435al)

quadrant quadrant letters Numerical value
From O to 90 NE bearing = azimuth
From 90 to 180 SE bearing= 180 - azimuth
From 180 to 270 SW bearing= azimuth — 180
From 270 to 360 NW bearing= 360 - azimuth

A 6 i1 2l ol
oY) B AuSlay g aBal) A ala¥) (5 Al a0l (g gheus ALY (5 Al 2y olasy)

=

65“|

k_f S
"E Backward Bearing of AB

A
l Forward Bearing of AB
S

E




Sawnb Lizoll oliVl g (il olxi VI w a8 Ml

A g by (punhlinall slaly) (pa aS) 98 Addal) slad¥) Gld B yd undiliall Gl adY) ¢ oS, Lasic

rasbliiad) slai¥) (pa fual 098 Alal) olady) Gl L canhaliiall Gi Al (S 1Y) Lal i) jadY)
L) il ) dg gl )dhay

Ja A ) Juady GuSally g) A8al) g S a olalY) (o) pushaliiall (5 Rl & ) olad¥) Jagad ) 1)

9 Amal) il ol A wdalinall o ilall olaiDU) Jagad a s dlall slady) ) g alall &y, olady
N Lo=Sadly

Geodetic AZ.= Magnetic AZ. + Magnetic Declination

180



YIS S el A 30 AR s B 3l sl a2
ABC =88 20", BCD = 250" 15",
CDE =265 25, DEF = 82° 10/
Saladl aa 1607 00" = AB aplslisled sl

L ) dasladl
g{ AB alaal jafog s dad
1'\ < AB = 160° < BA =160+ 180 =340°

\ BC = BA + Angle to the right

BC = 340° + 88° 20" = 428° 20"
BC = 428° 20 - 360° = 68° 20/
/ D CB = 687 20' + 180 = 248° 20
CD = CB + Angle to the right = 2487 20" +
250° 15' = 498° 35'
. CD = 498 35'— 360 = 138°35' & DC =
E'é\m_m 138735 + 180 = 318° 35'
# DE = DC + Angle to the right = 318° 35' +
265° 25' = 584° 00'
. DE = 584° 00 — 360 = 224° 00 = ED = 224° 00 — 180 = 44° 0
EF = ED + Angle to the right = 44° 00" + §2° 10" = 126° 10'
R0 WA R PP
AB = 160° 00", BC = 68° 20, CD = 138° 35, DE = 224° 00", EF = 126° 10’




o ABCDEF ghaad) b : s

DE =50 alalolad )13 st

- AB, CD, § A1 6133 cauad! (10
: EF
D65 144y 00
sl 3 s 5 sy oy
EF §30 glad 3 DE
ke gaDE $a3 gl ) (D) (hd el o S g 5 2 105° 23" 4y )
ARl Pyl

PGS gl g iy alld iy ladad gl ARG AG LY
257 =20"+121 - 24 20*12%cos® P =997 42' 54" 3 99 43’
EF = DE - deflection angle to left = 50° 10' - 65°14' = - 15°4' 360
». EF = 344° 56’
DC = DE + Extemal angle at D = 50° 10' + (360 - Interal angle at D)
DC = 50° 10"+ (360 - 105° 23") = 304° 47 = DG
GD =DG - 180 = 304° 47 - 180 = 124°47 =CD
GB=GD+0=124°47 +00° 43'=224°30' =BA
AB = BA - 180 = 224° 30" - 180 = 44° 30'




" Angle to the right" gaoul JI @ugl;Jl .1
glall | @l glall o acluddl e olwil auwliall aglill e 6l D

. (360 - 0) o 29l lpawld Uidg (s>WI
F. AZ.(8>V)= B.AZ. ((&sLw) + Angle to the right

ABC
I N BCD D
3
£ IECD=?‘2° 1520'L
Cpadl a5 A s
il pifl iy )

" Deflection Angle" W=Vl augl; . 2

Wi $>WI glall JI Bslwdl gladl slasol oo duwlasll @glill e byLe D9
F. AZ.(&>Y)= F.AZ. ((sLw) * D. Angle (180 - 0) 1o Lpiowd 291,




Syl pUaidl 08 wnalsdl olssVl o wswoloVl ol Yl adMell

N
AOO

Azimuth AB = 110°
Back azimuth AB = 290°

Backward = Forward +180



YIS S Gl ) gl 300 A5 ey 05N L 550 Gl 5 a1l
ABC =136 14' 20", BCD =172° 16' 40", CDE = 96° 37' 10",
DEF =217° 54" 30", EFG=81° 10" 20", FGH = 168° 46' 50",

AB = 237°18'40" Lall oladl )l cudle 138

AB=327°18'40" & 3LV U0 SIS 5wl S0 alaiY) 4 s abomall o 5 sy — 17 o slladll
BA=327°18'40" - 180° GH Lall olasl slay — 2

. BA=147°18"40"

BC = BA + Angle to the right

BC = 147°18'40" + 136° 14' 20" = 283° 33' 00"

. CB=283"33'00"— 180 =103° 33' 00"

CD = 103° 33' 00" + Angle to the nght = 103° 33' 00" + 172° 16' 40"
CD =275°49'40" < DC = 275°49' 40" — 180 = 95° 49' 40"

DE = DC + Angle to the right = 95° 49' 40" + 96° 37' 10" = 192° 26" 50"
-. ED=192°26' 50" — 180 = 12° 26' 50"

EF = ED + Angle to the right = 12° 26' 50" + 217° 54' 30" = 230° 21' 20"
FE =230° 21' 20" - 180 = 50° 21' 20"

FG = EF + Angle to the right = 50° 21' 20" + 81° 10' 20" = 131° 31' 40"
GF=131°31'40" + 180 =311° 31' 40"

GH = GF + Angle to the right =311° 31' 40" + 168° 46' 50" = 480° 18" 30"
- GH=480° 18' 30" — 360 = 120° 18' 30" € = stkadll sla5y!

J327° 18' 40"




oS5 AB =457 00l shadd At s il ¥ Ay 4L s A a5 e
ABC=122°R, BCA=133"R, CAB = : o Uyl sia
CA ol day o thdl 1050 R
AB=45°00
BC=AB+Def AngletoR. =45°+122° =167
CA=BC+Def Angl:tu R.=167T"+133*=300°
AB=CA+Dcf Angle to R. = 300° + 105° = 405°
. AB=405"-360=45°00" .. OK
IS il il 1 Ay 5 A s B U b
Deflection angle
142° 25' L
135°40'L
105°35'R
48" 30 K
G A B Slaladl b (3200 = FA aldall ol (S 134
o
EA = 320" AB = EA — Deflection angle to left = 320° - 142° 25"
AB=177" 3§

BC = AB - Deflection angle to left = 177° 35' — 135° 40' = 4]° §5'

Station

El=1l21=-1

g || =

CD = BC + Deflection angle to right = 41° §5' + 105° 3§' = 147° 30
DA =CD + Deflection angle to right = 147° 30' + 48° 30' = 196° 00"




sl ABCDEF phaad) A0
DE =507 alual sladl €13 ola
1y ABLCD, EAS S sl ]
EF

D65 14y g
ol Sl (et st oy
EF 33l glial 3 DE d
< st e DE G olnl I D G ol (e ol B 045 2 105° 23" 29 3
L kel

Syl (gl iy ol gy Ladlad o dln il 5 A 6 dag
25° =207 +12° -2*20*12*cosd P §=099°42' 54" = 99° 43"
EF = DE — deflection angle to left = 50° 10' — 65°14' = - 15° 4' +360
-, EF = 344° 5¢'
DC = DE + Extemal angle at D = 50° 10' + (360 — Intcrnal anglc at D)
DC =50° 10"+ (360 - 105° 23') = 304* 47 = DG
GD=DG- 180=304°4T - 180=124°4T=CD
GB=GD+6=124°47 +00° 43' =224° 30' = BA
AB=BA - 180=224° 30" - 180 = 44° 30/




(CDEF JE-ll Jise rls <o (Offsts) il SLadl CAS) AR readl 3 a0
AB = hallsladl j Cude i

e alall sl a0 LEITOP (5
e .DE, CD
-

Iﬁl'

.rl‘

A CFG &8 b g

G tid

@ =180—(90+8)=40"

(AB ) #FG o) 170° 05' = AB skal = FG o3
FC =FG+ o= 170° 05 + 40°= 210 05' = CF=FC - 180 = 30° 0%
(it il Ul 5 ) 00° = L2844 SFCD 435 9
(CD 1 CF e ol e 8351 ) 270° = 90° - 360° = 4 ja &y g
CD = CF+ Ext. angle fo right = 30° 03' +270° = 300° 05" = DC = 120° 05'
DE =DC - Internal zmglctc- left = 120° 05 — 90 = 30° 05
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Traversing gal.oull

dwig)l &)Laedl (58 @8l 8 )law ol Jow) @giwnll d>luwnll (8 dawlell B,k pal
blad a8Vl iz 98 gdaidl o wowlbwVl Lo, 0l Ui (gladl aa,b b asbas)l
£9rxiroll @990 (59 1> S dcjgog A9 20 Sya> WLl (X,Y)

Traverses wilslowll

wld 0 il 9wl 8 bl blas s sl 9 @)Vl bladl o acgoxo by, gd
bl cuz glaodl gMol (swouws diueo bolhs alawly 13V Lasdl Lo go @Guso wlilasl
----- uclyy uo,l s> o)l ) dxluwe aaiod 390> (eSS I S8 lpass go eMal 0is
9 lpio 33Vl So @ Jlghl ¢ duse wlalxl wld VeSH glasdl 390> SJWIL 9 (A
Llg; ol uoudl (sJl Llgj) Llg; Loy go gzl 0id jaxi (b)ocudl blad wlilasVl sl

A>lg gl olxl H9g5 e 3Vl e MoVl wislxil a3,20 9 Lpio Slasuw (W=l




Types of traverses wilslowll glgJil

closed Traverse-loop Traverse (8l=olJl glowll :Vgl

dladl ahaidl puais (spiivg (@l 8,huw @hsi) @uadVl syl asgles dhsn glaodl T
LlgyJl o Lilalssl ol MoVl Jlghl (88 @uso clhasl Jgas> adloss! (sle 8 ool Bags lsg
oo i 9 poleo &lo olxil 99 wlelaoll o goill 11 (58 @8 Lilihsl uei (59 9l auadV
il aasill 85¢2)l procws sdazdl Joell dgpw s UgSH losic paxiuy wlelaoll glgl Jasl
(L5135 Vl g LlgyJl ooV Jowin glasl 1ia (sde S,z Sl puzaidl (glaosdl Lo 1o

"loop Traverse”™ Saad sl




( closed Traverse-controlled(link) Traverse) pS=xolJl glawll (LU

olxil 9 WlilasVl dogles dhin spi § wlilasVl dogles dhin glaosl lia law
Join @ueo I,y axuxai Sy g9 83,lg sVl Jaa> Joizludl=il gl ogleo

sl 8392l dgeall (o WSy lonic ol 1id paziuy 9 (Llgyl 9 wlalsVl) auzaill
aJle a8 wglho o ayladl ahs

AEY) By ,
- e,
g /
*) c o ,
A
?,la..nhﬂ'%/

" controlled(link) Traverse" sSadl aladll




Open traverse ggigoll glawdl :LWJU

A>lg lo ol d>q 9 WSSVl dgp=o ahsu spin 9 WSV dngleo dlnsiu glasdl claw
s Ja> 151§ ouislud]l pucodl o S| wlelao)l (o ol 1 (8 slasVl UeSi pglso
bl jue ol )2l glasdl Loyl (oo 9 au=ai Sou V aso

SLiaay!

A glee ABYI(XLY)




Coordinates wlula> VI

9 auo)Ml bladl gdlge i lpio oyl (@lunll Oldoedl pdl o 8a>lg s 9
olilas! ellad (8, blas) glaoll bl ol «(X,Y) aslaeVl gleall (sl éuw Soiuoll
i ol Ol VIl dogleo Juol abss (sJl w9 @dlucVl jglxoll (I s dinzo

Jsoiil g ol Lo (sle olslasV

Northing Jaowiuil|

ooy b wodl 13 North Jwid! (sJl dcws glasll o glo Sl héww ¢d
AN ULl aJ 50,5 ¢ Latitude glall duwl,Jl &S ,0Jl

Easting _g) il

ooy s ol [1s East B)uidl (oJl awws glaodl o glo Sl hiuo ¢
AE LL>| o 50, gDeparture glall a4Vl aus ,oll




Latitude (Lat) = L cos Az.
Departure (Dep) =L sin Az

-

AlLat, Dep e i gllaad plial Jylo= L

e P g S ) Al JS) 5 AN S = Az,
AL e Y G g (0L

(P ) pe) pleall 4 2 45 ) = Lat

(3 A ga) loiall 48801 45 yad = Dep

LB DN AdgAz o 2diLat, Depsjid o

A 403 (sin, cos)

AlaY Ll i) £l A0 3 p el

xjon =xsy *Dep] & lylon =yloy * Lat




Line BC
Dep. =L sin Az. =120 sin 165° 20'=30.4 m
Lat. =L cos Az. =120 cos 165° 20'=-116.09 m
xc =xg+Dep.=1319.8 +30.4=1350 m
yc=ys+ Lat.=1316.8 — 116.09 = 1200.71 m
C (1350, 1200.71) m

Line CD
Dep. =L sin Az. =300 sin 194° 36' =-75.62 m
Lat. =L cos Az. =300 cos 194° 36' =-290.31 m
xp = Xc+ Dep.= 1350 - 75.62 =1274.38 m
yp =yc+ Lat=1200.71 - 290.31 =910.4 m
D (1274.38,910.4) m

Line DE
Dep. =L sin Az. = 80 sin 285° 48' =- 76.98 m
Lat. =L cos Az. = 80 cos 285°48'=21.78 m
xe =xp+ Dep.= 127438 - 76.98 =1197.4 m
ye=yp+Lat.=910.4 +21.78 =932.18 m
E(1197.4,932.18) m

CSIY B, C, D, E Bl CAfiaa) aa ol aliadl ; Jia

(1000, 1000) m = A 4l Sidsa)
Line AB
Dep.=L sin Az.=450 sin 45° 15'=319.6 m
“" Lat=L cos Az=450 cos 45° 15'=316.8 m
xs8 =xa + Dep.= 1000 + 319.8=1319.8
ys = ya+ Lat.= 1000 + 316.8=1316.8
B (1319.8, 1316.8) m

aliall Jgh dad (Sasd Akl Slllaa) g 2 glaall g Y g2 4aladl g alial) Jgha (4S 1)) Adiadla

L.s =+(ax)’ +(ay)’

| P RS PR

where: Ax =xg —xa, Ay =ys—ya

N Aoy o gliagl Jadl) g J SLAN 003 jpuanal Ay M 29 P O S

,AzimllthMo\;ﬂo,m“jLleoh&mchm
AX=xs—xa D Ax=+

=F Ay=ys—va=d> Ay=+




Gutan'E = 0as = 6=Az AB

Ay
N
Az AB
Ax=xa-xaP Ax=+
Ny,
: Ay=ys~ya P Ay=-
Ax
=gy W =i = &
i 4 ) 8=tan o =8=- <DAzAB=180-6
N
Az AB Ax:u-u’Ax:.
s £ Ay=ys-yad dy=-
.J 4 4x A
f=tan"— =6=+ DAzAB=180+6
Bivy) s&) by
N
3040
Bovy) Ax=xs-Xa P Ax=-

> AB Ay:y._yAéAy=+

UGE aam-';ﬁ =8=- 9 AzAB=360-6
Y




glaol s, Ll g aus1u1 Llg 3l

b e i JA0 AR U g (e S

4813 il Uy ) ¢ yead " Tnternal Stan dard Angles=(n — 2) 180
4 Ja Ll U 3 ¢ send T External S tan dard Angles=(n + 2)*180
U2 g e duallse Judin o &us

0 e Ay s Ak e s gy plad S e 05 S

3607 = 4 A 4y 1+ 41l 4y ] aduadd S e (S 08




i LS ABCDA pliadd g3l sladl S 1 ;e
AB =130° 14, BC = 50° 20", CD = 305" 15, DA = 220° 10
Fadanl 40800 Ll gl canen)
Slandl Salatyl e Lol oo o JE8 aliad] a1 Y g can z Jad
ok e AT CAALSY) ad ) A0 ey Blaeall Agaldl| CAALRIYY (e

Line | Forward Dir. | Backward Dir.
AB 130° 14 310% 14
BC 507 20 230° 20
CcD 305 1% 125% 15
DA 220° 10! 40° 100

A G geandl gaall 2 Al A g I i el
O s phiinall e A S S5 1) AL S e el
Ay ) e e Cuda 8 ) el Sl Ll

Sl s 15§ 4

Point | 2 ) Jaghd 2l Jad ol A el = LRI g 0
.,F‘*-"HB 130" 14 \ L .

R E s 130° 14' - 40° 10" = 90° 4
B 50° 20 50° 20'- 310° 14 =- 259° &4'

B SSBA 310° 14 + 360 = 100° 6

4D 305° 18 o \ge s

c ECR T 305° 15' - 230° 20' = 74° 55
DA 220° 10° 220° 10' - 125° 15' = 94° 55"

D [ &DC 125° 15
[(n- & s O iy i) e bgale (Jomandl o3 30 Uy 8 e iy Sl (e kil

360° = [(4-2)*180] = 2)*180]
SOK  360°=04°55'+74° 55+ 100° 6' +00°4' = Y g}l § sama
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a9luo sVl glial) dguseoll dosdll colS 1566 ((olssVl pgleall) VI glnoll olssl
o glaoll £\ol guos ol 0l slasoll glall &




gao> olsl b slasoll gla)l dous) dgluw e sVl glall gauxol! doudll cslS 13l Lol
oo wowsw 9 Angular Error Sgly)l Uazdl (swooun Uas Jbs ¢ puzai zlizs glasll ¢ Wol
el &sleoll

Angular Error = Calculated AZ. _ Given AZ.

Pueai G Sl JSiw glaedl g Mol (sde Angular Error Sglyll Unzdl doud gu595 i
Jl Sy 9 Sol3l Unzl @ous) Sglwwo uzVl glall puzai g yoal) Sgluwe JgVI gLall ol

8LVl juSc pumess

k-1

o3V (sl eVl oo glall Jlos = K

.2lao)l Mol sac = n

:a Wl dsleoll plaziwl olalwVl pusai pi

(Ul 6Ll wsSe) puxaid] Hlaio + womuxoll olxiVl = glal aowanl oV

Angular Error for one side = Angular Error *

~
[




Ol oo anglesll (sJoVl @bl ahwly glasll bl wlilasV puxaill ddoc sl,>V
colS 131 ((angleall) glasl) 8yl abhall lpow oo S5V glas)l bles g wlslas
gao> lilas] Ul slasell @nsil dous) dgluw 6Vl ahsdl OlilasY dgauoll dousl!
adnaidl doud) dgluo e 8,3Vl dnaill @gauzoll doudll colS 151 bl (oo glaoll bls;
5 sVl Uazdl (souuw Uas s g pusai zbizs glaodl bla go> olilas! 0l slasoll

& JSJl wleluwodl ggozoralldl @slesl (o oz

Error in Coordinate (X) = Calculated (X) _ Given (X)
Error in Coordinate (Y) = Calculated (Y) _ Given (Y)

Compass Rule alogdl U8 piaxiw akhss JSJ pu=aill lase Ll

dogleoll ahsill 9 dgp=oll dhsidl w 4,89Vl adluoll

cuaill )laso =Error in Coordinate & IS)] SBLawodl € gomeo

il
:a Wl @sleoll cows axseacll ©lilasVl Glus ow

Corrected Coordinate (X,Y)= (ES"jl““"”\JI auxaill )laso # 1) + Error in Coordinate (x,y)




YIS S Cpal) (A ) AR e I ) 5 I e S O el B gl

ABC = 88° 20", BCD = 250° 15", CDE = 265° 25", DEF = 82° 10’

BC =100m, §3ail Jshi SSS; BF =126° 14' «AB = 160° 00" ablall sladl Sl< 134
E(1075.7,875.7) «B(1000,1000) 4kl <ifiaa) <6< CD = 100 m, DE= 120 m

CB1=42° Jpedl Masg Y335 m 55D ad,y oS0 B Aalill e ddld) <l 1Y &

F.AZ. (@>VY)=FAZ. ( @&w)+ D. Angle

F.AZ. (@>V)=B.AZ ( @&w)+ A. Right

Backward = Forward + 180

DE = DC + CDE = 318° 35' + 265° 25' = 584° 00’

. DE = 224° 00' =» ED = 44° 00'

F

D, C il daa il SLSlaay! el A
BE alall sladl 5 J sz a0l o

1A 0SSl -~ A0

i _
AR
alaall S lelady) &0yl asen Sialadl g N
AB
AB = 160° 00' = BA = 340°
BC = BA + ABC = 340 + 88° 20'
BC = 428° 20' — 360 = 68° 20’
CB = 68° 20" + 180 = 248° 20'
CD =CB + BCD
= 248° 20' + 250° 15' = 498° 35’
.. CD = 138°35'-» DC =318° 3§’



EF =ED + DEF = 44° 00" + 827 10" = 126" 10/
Angular Error = Calculated Az. EF — Given Az. EF
=126°10"—-126°14'=—-0" 4"
IS e g4 ) Uadll a5 5 Y
(g>= 22)n=>5

Angular Error =— 0° 4' K=1,2,3.4,5
el Jaie (AB)=—0° 4" * ;:11=0
el i (BC) =—0° 4" * §:1=—0°1'
il ke (CD)=—0°4" * ::1 =—0°2
el Jaie (DE) =—0° 4" * ::iz—ms'
5-1 _ geu

sl Jde (BF) =— 074 * T
s iall &S] clalad) ¥
maaddl oladl AB = 160° + 0 = 160°
masaddl oladW BC = 68° 20" + (— 0° 1"™*—1) = 68° 21"
maeaadl olad ) CD = 138° 35"+ (— 0° 2'*—-1) = 138° 37"
maaddl olad | DE = 224° 00" + (— 0° 3'*—1) = 224° 03'
maeaddl olad EF = 126° 10"+ (— 0° 4'*—-1) = 126° 14"
:B (1000, 1000) 4kais e feliy C, D, E bl Ciflaa) day €
Line BC:
L =100 m, Az = 68" 21’
Dep. =L sin Az. = 100 sin 68° 21'=92.945 m
Lat. =L cos Az. = 100 cos 68°21'=36.894 m
xc = X + Dep.= 1000 + 92,945 = 1092.945 m
vc =ye+ Lat= 1000 + 36.894 = 1036.894 m
C (1092.945, 1036.894) m
Line CD:




L=100m, Az=138° 37"

Dep. =L sin Az. = 100 sin 138° 37'=66.11 m
Lat. =L cos Az. = 100 cos 138° 37" =-7503 m
Xp = Xc + Dep.=1092.945 + 66.11 = 1159.055 m
vp =¥yc+ Lat=1036.894 — 75.03 = 961.864 m
D (1159.055, 961.864) m

Line DE:
L=120m, Az=224"3"
Dep.=Lsin Az. = 120 sin 224° 3'=-83.434m

Lat. =L cos Az. = 120 cos 224° 3'=- B6.248E m
xg = xp+ Dep.= 1159.055 — 83.434 = 1075.62 m
yE =yp+ Lat.= 961.864 — 86.248 = 875.615 m
E (1075.62, 875.615) m
eyl A lhd ellia - € (1075.7, 875.7) o Ji5dl A 8landll E Adals iflaa) <]
agduall Jlaayl A lad s

Error in x-coordinate = 1075.62 — 1075.7 =- 0.08 m
Error in y-coordinate = 875.615 — 875.7 =- 0.085 m

Al gl 5 58 A2 B, C, D, E Bl cifiaa) o goball 5 el o) Ued ay 55 0
Point B:

0

X gheall Sy sl Jale = 0.08 * 0 =0
Point C:

i . - 100
Kgf&“ngﬁ"‘a‘?‘@.ﬁm‘)u‘=-ﬂ.08 * E =-0.025m

¥ galall FaYl g e =~ 0.085 * ) =-0.026m

Point D:




x i JIaY masl Jiia=- 0.08 ¢ % =-0.05m

Y el Syl saadl Jie=.0.085* = =.0.053m

320
Point E:
320

x,u,:ayncp-&)&--o.os’ﬁ =.0.08m

y ead GhiaY) s e =- 0,085 + 0 =-0.085 m

(P el [ g i Bl dasad) Y a1

B (1000, 1000) m
Point C:
Correct (x) = 1092.945 + [-0.025 * -1] = 109297 m
Correct (y) = 1036.894 + [-0.026 * -1] = 1036.92 m
. € (1092.97, 1036.92) m
Point D:
Correct (x) = 1159.055 + [-0.05 * -1] = 1159.105 m
Correct (y) = 961.864 + [-0.053 * -1] =961.917 m
S D(1159.105,961.917) m
Point E:
Correct (x) = 1075.62 + [-0.08 * -1] = 1075.7 m
Correct (y) = 875.615 + [-0.085 * -1] = 875.7 m
S E(1075.7,875.7) m
(NEAIMI ndfile pldaila A
S AA Jadd
B (1000, 1000), E (1075.7, 875.7)
Ax =xz~xs P Ax = 1075.7 - 1000 = 75.7m
Ay=yr—ys=> Ay =8757-1000=~-1243m




Lo =+/(Ax) + (Ay) =4/(75.7) +(—124.3) =145.537m

= g =-31" 20"31"

6 = tant X g 757
Ay ~124.3

> Az AK =180 - & = 148° 39' 29"
BC =68°21"; CB1 = 42° Jpell J 1) dl Cpa () £ adl
BC=68°21'+42°=110°21'=B1
110°21' =B1 alall sladl ¢ e 35 =B] alall Jsh -,
Dep.=Lsin Az=35sin 110°21'=32.815m
Lat. =L cos Az=35cos 110°21'=-12.171 m
x1 =xs+ Dep.= 1000+ 32.815=1032.815m
yp =yx+ Lat=1000—12.171 =987.829 m
. 1(1032.815, 987.829) m
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£ MW Azimuth 510l olssVl pud (s slas|
(a5 ol ads1s)e Mol ulo @8Vl Llgyl pud (8 slas|
&laoll (58 @,V bladl olilas! s clhs
Wl JSLidU g ¢ sUasVl 0ia go Joleil o
ads1s) asdVl Ulgyll (shasi olelaoll (o goill 11 (b 1@xadVl LlgiJl cUas1:Vel

39 Iyell g zrxiws gl MoVl wlpsisl glhswl oy Jlgdl (89 (=)l o
lo,lo 9 glaod) au>,)dl ol adsluJl Llgil ggoxoe Ll pi (g MV wlall
raJUll wVsleodl

4813 &l 3 ) ¢ yead > Internal Stan dard Angles=(n — 2) 180
4 Ja &l U 3 ¢ sand T External S tan dard Angles=(n + 2)*180




is @wlid)l Uloy)l £gomo) Soluro @gzoll Llgsl (sJSJI & gozoldl wolS 158
ouitdl o BMisl Il olS 131 Lol .amuzo glaodl (s dugaumall Ulgyll ol s

&lall dous) agluwo juc 3Vl glal) &g wu=odl dousll awlsll pusll 9 ag ol
Uzl oo U Ibd g pumai iz glao)l Mol guo> olsl vl slasoll
ra Ul adsleodl (o =y 9 Angular Error Sol;Jl

Error in Angles = } Calculated Angles _ } Given Angles
glaoll Ulg; sac (sle Solyll Unzdl laso €560

Error in Angles

gly JS cu=ai )lase =
29l JS eu J no. of Angles

raJUll ddsleodl o a9l JS dxall pusdl o

Correct Angle = Calculated Angles +( au=aill ,las0 * -1)




Azimuth g MoVl O] b (WL
i) caasVl Loyl W5 00 s ol Jlimadl (s 8,k glaoll ool slass
a9Vl LlgJl «uls 1518 (e MoVl wbd =il pu=ai (§auni aus9V| LlgyJl pu=ai adoc
Asesmes WS OBV Ul dxsean ol dsumo
Olula>Vl U WG
pis (bl by, slhasl) acMol dighl g glaoll wlslxil cu=ai ddoc <l)=l a2
Lat.& Dep. awll 3 a0Vl olS,oll sle Isloicl glaoll 0lS,l wlilasl olus
SIS SlilasVl dxs oo 3SWI S,z

YlLat. =0 & > Dep. =0
8 Uas 39>9 (sisy g8 80 Seluw V @88Vl g awl, )l OLS o)l ggamo OIS I3l
4 Wl uloddl 3o plaziwl asesseds 5,5 3 wlilasl




Compass Rule al.ognJl Ugild
L
auS yoll pu=ai laso=Error in (Lat. & Dep.)* S L

Correct (Lat. & Dep.)= Calculated (Lat. & Dep.)+( T+ slado = -1)
Qeumai slyoll glall Jgb = L
-sleoll glaoll £ Mol Jlgbl ggomo = ¥ L

Transit Role wujil,idl Ugile

|Dep.|

Y|Dep.|
|Lat.|
Y.|Lat.|

Correct (Lat. & Dep.)= Calculated (Lat. & Dep.)+( T+ IRCT R -1)

(Dep.) gu=ai ,laso=Error in (Dep.)*

(Lat. ) gu=ai ,laso=Errorin (Lat.)*




g

as Jsa(m) Azimuth Dep=Lsin Az. | Lat=L cos Az.
AB 405.24 106° 20’ 00" 388.885 - 113.964
BC 336.6 57° 54' 30" 385.167 178.827
D 325.13 335° 29' 00" - 134915 295816
DE 212.91 219° 29' 00" - 135.379 - 164.326
EF 252.19 266° S5’ 00" -251.825 - 13.565
FA 237.69 219° 40' 00" -151.722 - 182.967
> 1769.76 0.211 -0.179

S 5 g Y A4S p gl A g gl B gead L
T oyl i AL (i, yhal gaa) Jedid 5 € RS A SIS A Uad o
405 24 =

AO01000) s ) 3B, DB, F ol il

Line AB: (B ASY) ad) A€ jall sl e = o.zu‘1769 -~ 0.048
' AN gl S a0 ) s

Line BC: (3 A5V a0) 45 )l sl Jila= 0.211“1,';':;'_6,6 =0.04

: : _— Azimuth
Line CD: (0% ) 45 ) sl jie= 0211 *;’;’; =0.0387 AB "}"::(2'2) 106° E;(;f 00"
Line DE: @AY o) 48 )l sl Jobe= 0211+ 2290 _o 0254 BC 336.6 57° 54' 30"

v CD 325.13 335°29' 00"

Line EF: (1201 09 1653 st o= 02110220 =003 DE 212.91 219° 29' 00"

. ) 2.37;99 EF 252.19 266° 55' 00"
Tine TA: (AN ae) 48 00 ~aual J2e= 0211 ‘m: 0.0283 FA 237.69 219° 40' 00"

Aaaad 44N SE

AB = 388.885 + [0.048 * -1] = 388.837 m
BC = 285.167 + [0.04 * -1] = 285.127m

CD = - 134.915 + [0.0387 * -1] = - 134.945 m
DE = - 135.379 + [0.0254 * -1] =- 135.405 m
EF = - 251.825 +[0.03 * -1] =-251.855 m
FA=-151.722 +[0.0283 *-1]=-151.75m
£ =0.00




4 k) g

40524

1760.7%6
: T 3% 6
Line BC: (0 A£ W nodh ez <0179 ¥ e = =0 034
ime BC: (Y 80 46 A s o
Lie (109 4 g e 0192 -0

Line DE: (1< 3446 0 gyauss = -o.moég’:.ams

Line FF: (A5 1) %6 8 it ):i--.-amol%%:-o.ms

n e

o

=-0 041

Line AB: (3 j) 34) 48 2 ansd jiam 0179

Line FA: (1} 84) 48 )0 andl Jia= 010 * =-004

AB =~ 113964+ [0041 *-1] =~ 11398 m
BC = 178827+ [-0.04* +1])= 178861 m
(D= 298816 +[-0.0329* 1] = 208 849 m
DE=-164326+[00215*-1]=- 164304 m
EF =- 13,5654 [0.0255 * -1] =~ 13540 m
FA=- 182067+ [-0.024*-1)=- 1203 m
=000
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o8l 9 a5l GleS Ll 9 Byl Jloel ¢ asbisVl JloeVl wlsluo

Methods of Measuring Area a>LuwwlJl gl 9,b

Filed Measurements .audssdl GLwlaJl .1

olwlall (o aglholl Lo,V dehd asluo uaxi o,8) bsleicl pi Byl o sac s
d>g0in 9l doudime bgls (e 8,k culS 151 Lo, VI ashd 9> dsub (sle Isloac] ada=ll
: B,bl 0id psl

(Brxi0 s« Jabaiwno ulio) alagn duwaid il (] o,V ashd puanis
Jowiiao s (sle a>goioll s5935l (o dancVl aoldl

coordinates method .wlib=aVl as,,b




Map Measurements .bul =l o wlwlall . 2
a>Luodl 3uax 853210 by wudlwl s
(Byxio s « Jubritano: elio) @pwis JISLol (sl augllroll @shioll a>luw puuss

o grid &5 plassiwl JUS oo @glholl @ahiol lpudeis il wlayoll sae Ol
adlas @89 Lol Wibio 8,900 Qogw o &piall sy poll

coordinates J| plazuwl asliodl 393> Jioi sl blal) assVl lslasVl juass <
(il asy,hny a>Lueldl 3,a=5) method

Planimeter ,iwoiMJl olozeiwl




Aousiows bobs (sle diocV] AL a>luwoll ulw>
a>gouo bghs o 8,le lusbuw 1 sl 5,V dehd s9a> UgSH bo Wle asuldall (58

- 1 agVl wlgh=ll gL;fL_; a>Luodl o= piu A=l 04d (89 (Goudiuo yuc curved)
Sl asluuodl 390> (sl )8l WSy Ciu=y o)Vl aelhd 5 Is glao Joc

285 39>9 Al> (sdg dyg9lio slayl wls s>l (JI( glaoll £Mol) pudiuwal sl ppds
Wslel Gwld pu a8lo] blas i3l puy slissVl (58 bgxlo

. 8302Vl Jlghl Gwldg (o,Vl dehd 393> oo pusinunl bzl (sle saoc] dold]

o bl Sas| sadan (A,B,C.D) s>Vl 04a ésluwo iz piy
A

Trapezoidal Rule W ,=ioll a i dacld . A

Simpson Rule WUguwow 33cld . B
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Aossiaw bohs duaubll seal b sezg0ll 2=l sy

Trapezoidal Rule 9 ,=inll auis daclo

>

Aol a0l o uio Ausaudall Sga=dl (89 dg>90dl il ey
S5,9 pudiawoll b3 o dolioll daecV sac VS, Ul L @

ha
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Simpson Rule Ugawuuouw 32cl9

A, =3l +h, +4(Eh, )} 2ATho)




VWl as by axlbwell vl
o g A ) L e e (e i ) nsled JOI s o
g Ry PE PSP R EN P U P

24=EN,+EN, +...+EN )-(NE,+NE +. . .+NE|

EIVE?V' ) : VEﬂ\r"E]

N R
IS o ALl ldion) ) Code 13 (KD Falie 33,9 ABCDE ghind ;)
A (1000, 1000), B (1300, 1100), C (1500, 900), D (1400, 700). E (1100, 600)

I2 | I=

E N sl
1000 1000

1300 >< 1100

1500 900

1400 700

1100 600

1000 1000

2A = |(1000*1100+1300*900+ 1 500* 700+1400*600-+1100* 1000) —
(1000*1300+1100%1500+900* 1400+700* 1 100+600* 1000)|
2A =320000 m" < A = 160000 m*



24

Auwlindl a8y, )l obsl JSeidb axogall o)Vl delhd aslbuw wows| @ Jle

-

28

—— : =)
T ozl pLudVl 85 Lo Glows (Sow

55 45 23>V 52l 9 Ugoow weilss (sJgVI
W S P* 8 yminll A wsila,

A=2lh+h, +4(Th. )+ 2ASh,)

As =7 [28+ 25 + 4 + (55 + 30) + 2 * (45)] = 4830M?

24 + 28
T = + 30 = 780 M?

Total Area = 4380 +780 = 5610 M?




Awliodl asy,lall oUsl JSuidl daxogoll (5)V] aehd aslue wws| @ Jlo
=
SV B =ioldl aui 3acld oo

Al asLuwell
36 40

31 20 38

«— = ‘32

Area = %[ Yty t Zg y‘]

20 ,
AT = —-[31+32 +2(36 + 40 +38] = 2910 M
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il dabcal) Gl
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g i, 8 el o ik

ol Ll aliad Jn )y (4 gl
I daliad) s 1 65 (g L dd o
il A8 oy
a=KN
i aA¥n*m
10000
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i Chin A J) ki) Fnliae i 22
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(5.553 5361 30 csel 8 358) <) s QN
ol il s pdalad) A

8 ) il G glia i o
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#* L T 1
Crunl b 5336,745 (g glati el B! 1893 03 1,236 (g ghad Al 5l il 13 TRas

A L ki dali

:dal

5)925.509 = 1.236 - 6.745 = adl 56l i Ll ) i=d ol 2
a=KN=100*5.509 = 550.9 cm’

$50.9%200 #100
PEALAL 1101 8
10000 10000




Ahil Gy Cus 1/1000 an)y Osliier 4o su po dalise bl henBUll jlea aladiud
CulSE Aglg se iy n=2.815 ool Al sel i sl 5 Aakall sgaa zola oyl
akadi G g9 10cm 4xlis Jsb a3 an ) (C) Dlead) b Clua 2 215 n=6.143
S8 =2.572 <ilSs Al sel B n=1.608 ,uilS Al i sl 8 A 3 As A il

S oY e day sall B dadadl) daliee (o 6SS

: J=JI
A =100 cm2
K=100 / (2.572-1.608) = 103.73 cm2
a=K*N

a =103.73 * (6.143 -2.815) = 345.21 cm2
A = 345.21 * 100 = 34521 m2
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Elements of Simple Circle Curve  bowddl Suloadl (sixindl Jolic
PC- Point Curvature.
Pl - Point of Intersection.

PT - Point Tangency.

T - Tangent Length.

R - Radius of arch.

A - Angle of Deflection.

LC - Length of Long Chord.

E - External distance.

M - The Middle Distance.

L - The Length of Horizontal Curve.

D - The Degree of Curvature.
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A T A
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CosE— i M=R=*(1 Cosz)
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Sta. of (PC) =Sta. of (PI)-T
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PC = 26+30 M Sl suzioll @l @nss @amo g (LC = 50 m gl Jgbg « A= 60 30 alsJl

LC=2R*Sin§ N 50=2R*Sin6"2ﬂ = R=49.63m
TTRA° 1*49.63%x60°30’

L—m = L = 180° = L—52.41 m

T =R * tan% = T =49.63 * tan60°30’ =T =28.949m

1

E=R-=x( A
CosE

—1) = E =149.63 x (Cos16°°3°' ~1)=>E=7.82m

2

60°30’
2

M=R*(1—Cos%):>M=49.63*(1—Cos )=>M=6.76 m

Sta. of (PT) = Sta. of (PC) + L = Sta. of (PT) = 26+30+ (52.41)=26+82.41

Sta. of (Pl)= Sta. of (PC) + T = Sta. of (Pl)= 26+30+(28.94)=26+58.94m
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Vertical Curve wwiyJl (suixioll

P.V.l : Point Vertical Intersection.

P.V.C : Point Vertical Curvature.
P.V.T : Point Vertical Tangency.
g1,82 :Algebraic Longitudinal Slops

L: length of Vertical curve.

A: Algebraic Difference in grades

r : Rate of change in grades.
Ae: Difference in elevation at P.V.I

Y : Elevation of a point in curve.

X: Horizontal Distance at a Station.

*
AY: Difference in elevation between tangent and curve.
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P.V.l : Point Vertical Intersection.
P.V.C : Point Vertical Curvature.
P.V.T : Point Vertical Tangency.
g1,g2 :Algebraic Longitudinal Slops
L: length of Vertical curve.

A =g1-g2
r_é_g1-g2
L L

Ae: Difference in elevation at P.V.1
Y : Elevation of a point in curve.
X: Horizontal Distance at a Station.

AY: Difference in elevation between tangent and curve.
r

Ay = —* x?
2
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